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٤J٨אאאLosses and Efficiency  
٤J٨J١אאא

      אאאIron lossא Cupper loss، 
אא אא،א

א Kא אאא א،
 א   א א Po א  א    א

 ،אא ،    א    א א   א
Kאאאא

Piron=Po                                                                       ٤�٥٠  
א   א א    Kא א   א  

א،אאאא
אאKאאאא

אאאאF٣٥E٪א K
אאאKאאאא

אאאאאאK
Pcu=Psc                                                                     ٤�٥١ 

אאאאא אא אא אא
אאאאאאאW

٤�٥٢    eqscsccu RIP 2
)( =

٤�٥٣eqlflfcu RIP 2
.).( =

٤�٥٤
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